P: I’m not a BIV-mc
[bookmark: _GoBack]Q: I don’t seem to myself to be climbing a mountain
I [will seem not to know that P / don’t know that P] where there is no Q such that Q can serve as my basis for P, and my belief that Q is sensitive  (Q can just be P)
Well, this doesn’t work, if we want “I’m not a BIV” to be something I seem not to know, because *I have hands* can serve as the Q
So, we add (here following [18], p. 23) to our account:
I [will seem not to know that P / don’t know that P] where there is no Q such that Q can serve as my basis for P, and my belief that Q is sensitive, and not-P [here: I am a BIV] does not explain how I could have been wrong about Q  (Q can just be P)

P2: I not a BIV-nas
Q2: I am having auditory sensations

